Implementation Issues

» Component spread
» Sensitivity

* Tuning

* Noise

* Finite Gain

* Finite Bandwidth

EECS 247 Lecture 7: Finite Bandwidth
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Finite Bandwidth
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Model finite bandwidth only

DC gain infinite

(keep things manageable &
stand a chance to actually
learn something from the
calculation)

Errors:
— DC Gain: minor problem

— Pole: > phase shift

What's the effect on a filter?
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Effect on Filter Response
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SOIVing for pactual
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Effect of Finite Amplifier Bandwidth
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a, a, s Solution:
¢ Very fast amplifier, or
X = X ¢ Compensation circuit
Q enhancement - peaking in response (or instability)
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Pole-Zero Cancellation
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